o

2.

TRAILBGSS

Tow bar Fitting Instructions
To Suit NISSAN PATHFINDER 7/05 onwards

Part Number DS30
Rating 1500K g
WARNING:
1. Do not, drill, cut, weld or otherwise modify the tow bar.

If you are using electric welding on a motor vehicle,_always check that the vehicle is not equipped with

electronic engine or instrument management equipment. Failure to do so could destroy any onboard
computers. If in doubt, check with the vehicle's manufacturer.

Ensure all hardware items have been included.
Remove spare wheel.
Cut the bottom most face of the bumper as shown in the diagram (viewed from the underside of the vehicle).

Cut is 85mm wide, (shown by the
hatched marking). It is centered
between the mounting points visible
on either side of the cut.

Lift Tow bar into position, matching holes in cross beam to holes in tow bar and support with a jack or similar.
Fit M12 x 80mm bolts through aligned holes in the tow bar and cross beam from the bottom up, while tapped
plates on wires are positioned above the cross beam. Tighten these 6 bolts hand tight before lowering jack.
Fasten all bolts & nuts to torque listing below.

Trim excess wire off tapped plates if necessary.

NOTE: It is recommended that you check your tow ball to ensure it complies with
Australian Design Rules.

RECOMMENDED ASSEMBLY TORQUE LISTING
Grade 8.8 Bolt

Diameter Nm FOR TOWING PURPOSES ONLY

M6 9.5 For towing capacity details please refer to
M8 21.7 vehicle owner’s manual or to the

M10 43.4 manufacturer.

M12 77.3

M16 189.8

\ Page 1of 2 THE WORKHORSE OF AUSTRALIA’'STOWBARS |ssue Date 05-10-05

N

~




J TRAILBSSS N

Tow bar Fitting Instructions
To Suit NISSAN PATHFINDER 7/05 onwards
Part Number DS80
Rating 1500K g
PLEASE NOTE: You must remove the lug unless you are actually towing if it obscures your number plate. Failure to do so
may resultin afine.

1- DS80 ASSEMBLY

6-M12 TAPPED PLATES ON WIRE

6-M12 FLAT WASHERS
46-M12 SPRING WASHERS

1-lUG 73397Q 4-M12 X 80 X PITCH 1.75 BOLTS

2-M14 SPRING WASHERS f g
2-M16 X 45 X 2 PITCH BOLTS

\ Page 20f 2 THE WORKHORSE OF AUSTRALIA STOWBARS | | SveDae 051005 /




